Angles and Lines Review
Show all Work to receive full credit.

Name: M_“M

Block:

In Exercises 1-5, identify the angle pair relationship created.

23 and £6 are QUACNAAR. ev(angles.
Z4 and Z6 are (!gwmbﬁ e angles.
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3. /2 and 27 are A&l 2OV angles.
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Z1 and Z£5 are NV angles.

21 and 28 are QA e 0 KBiD angles.
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11. Set up two equations with two unknowns and solve the system.

Zx4+S = WA 2X V)"a’g’é
syl

KXty = 200

AN AS (1) # 00
QY X¥SX ¥ 25 =200
X & S =200

©12. Use the given information to find the following angle measures.

GIVEN: I||m, mZ£1=35° and mZI12=111°

13. Use the given information in the picture o find ALL of the missing angle
measures. Then decide which lines are

parallel. Please support each answer.,

C\\ A conespntiny
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8) MLAGD =118°

Fillin the missing reasons for each proof given below.

14. Given: ZF I 'B_F
mZLCDE =62°

Prove: mZAGD =118°

<> Statements

Reasons
1) AFE “ 1.) Given
2)_ on<(IOE =(p2° 2.) Given
3.) LCOE = LDGF 3)_(ovwespadivey hejys Gstulat?
4)_MNLCDE = Ml 4.) Definition of Congruent Angles
5.) 62° = mZDGF . 5.) Transitive Property of Equality
6)_MEAGD+ MLTELHE = (BD 6.) Linear Pair Postulate
7) MLAGD + 62° =180° 7.) sttt

8.) S lbtvathom

Fill in the missing reasons for each proof given below.

15. Given: m£LAGH = 75°
mzZBDC =105°

Prove: AF | BE

Statements Reasons

L___m<AGH >S° 1)__Given
2)__ e, = [oS® 2)__&Gven
i; 7\!;\444(-'2 F;WW 3.) Linear Pair Postulate

4 °+m — - 4. c';[ [ =btiets g
5.) M <AGD = IoS° 5.)) ﬁib*\’\};&hm
6)_M<AGD = W< B 6.) Transitive Property of Equality
7) £A6D = ZBDC 7. A0, A

8) AF || BE
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16. Given 1| m,s||¢
Prove: £1= 45
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17. Given: I/ ||m ) !
Prove: £1 and £2 are supplementary 3
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18. Given I||m, £L1=Z4

daf. of $upp\0/m.aa,tvwg,_

Prove: s||¢ 2
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